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Ex. 7 .2
-

1 . Set P(, y) divide the line joining points
At1 , 7) and B(4 , -3) in the ratio 2 :3

: by Section formula
x = (4+ 37 1) z= +3

2+3

or 32 = 3 or y =-
or x =I or y=
or x= 1 or y = 3

: Coordinates of P are ( ,3)

2 . Yet PK , y) divide the line joining A (4, -1)
and B(-2 , -3) in the ratio 1 : 2

.. by section formula
x= (1)- 2) + 2x4 y = # 3)+ 2( 1)

1 +2 1 +2

or x= - or y ==

on x= = or y=
3

or x= 2

Coordinates of P are (2)
Let Q (, b) divide the line joining A (4, -1)
and B)-2 , -3) in the ratio 2 : 1

.. bySection formula
a= ( -2) +1xY b =(3)+1(1)

2 + 1 21
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or a= - or b=

or a = - or b = - 73

or a= 0

: Coordinates of are (0)-55)

3 . ADE100m
25

1Distance covered by Niharika = Etor =25m

Distance covered by Pret = Ecom
It Niharika post her flag at P(2, 25)
and Preet at Q(8

, 20) .
Distance between two flags,PQE5-22+120-2512

= + 75)2
=5+25
=1 m

Let Rashmi post her blur flag at point o
Since Q is the midpoint ofPo
.. by midpoint formula
Coordinates of are (20)

(t,)
(5 , 22 .5)

:. Rashmi posts her flag in 5th line at
22 . Sm

cb
se

as
sis

tan
ce

.co
m



1 . Let P71
, 6) divide the line joining points

Al-3, 10) and BG, -8) in the ratio k : 1

.. by Section formula
Coordinates of P are 173),k+1

- 8k+10# FattS
:. = - 1

or Gk -3= - k- 1

or 7k = 2

or k = 2
-

7

:. Required ratio is Eit

or 2 : 7

5 . Let x-axisdivides the live joining
↑ H, -5) and B(-4

,
5) in the ratio b : t

.. by Section formula
Coordinates of P are( )
Since the ordinate of any point on x-axis
is zero.

:

I = O

or Sk-S =0

or Sh= S

or k=
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or k = 1

.. Required ratio is 1 : 1

Coordinates of point of intersection are

)
a (z , %)
6. Let Alt , 21

,
B(4 ,2) , <(16) , D(3, 5) be the vertices of

the parallelogram.
The diagonals of a parallelogram first each
other-

: Coordinates of midpoint of diagonal AC
= coordinates of midpoint of diagonal BD

or , ) = , 5) (by midpoint formula

or (t,E) = (E) S)
· = =

or x+1 = 7 8 =
y +5

or x= 7 -1 y = 8 -5

or x= G y = 3

E . Let the coordinates of point A be (2) and

point 0(2 , 3) and B(1, 4)
Since O is the centre of the circle and AB
is the diameter.

:. OA = OB /each= radius)
: O is the midpoint of AB.
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by midpoint formula
Coordinate of 0 are(t , 4

- 32+1
=
2 and E = -3 [: coordinates of 0 (2, -3)
I

or x+ 1 = Y or y + 4 = -6

or x= 4 -1 or y =
- 6- 4

or x= 3 N y =
- 10

: Coordinates of point A (3
, -10)

8 . Ap = GAB

or 7 AP = 3AB
A)- 2, -2) p B(2,-4)

or FAP = 3 (Ap+ BP)
or 7 AP = 3Ap+ 3 BP

or 7 AP-3 Ap = 3BP

or 4 Ap= 3 BP

or = 3

or Ap : BP = 3 : 4

By section formula
Coordinates of P(x2+ 4x72) , +2)3+y

or p , )

or =)
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9. Let points C , D, E divide
172,2)the line segment D E (28)

↑
-

Joining points A and B into four equal parts
: D is the midpoint of AB ( : AD = BD)
by midpoint formula
Coordinates ofD(,) or (0 ,5)

Since C is the midpoint of AD ( : AC = DC)

... by midpoint formula
Coordinates of c) , 5) or ( (+E)
Since E is the midpoint of BD). : DE= BE)
... by midpoint formula
Coordinates of D (2 , 58) or D(1 1 ()

to . Let the vertices of rhombus be A (3, 0) , B(4 , 5) , 2)-t, 4)
and D) - 2, -1) ·

By distance formula
ACEF= 32+ (4 - 0)2

or Ac =F+42
or Ac = N+ 16

or Ac= 4E

BD =1-2- 4)2+ 2- 1 -5)2
or BD = 02 +7 6)2

or BD = 5536

or BD = G

Since AC and BD are the diagonals of
rhombes ASID
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: Area of rhombur = ExA(XD( = Exdixd))

= ExYEx6E

=

= 24 Aq . Units
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